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E–155 

M. A (First Semester)   

EXAMINATION, Dec.-Jan., 2020-21 

SOCIOLOGY 

Paper First 

(Classical Sociological Tradition) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 
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lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- ßm|ksxifr izR;{koknh lekt ds dIrku gSAÞ ;g dFku fdldk gS \ 

¼v½ dkyZ ekDlZ 

¼c½ nq[khZe 

¼l½ dkWEVs 

¼n½ ijSVks 

Who said that ‘Capitalist is the captain of positivistic 

society” ? 

(a) Karl Marx 

(b) Durkheim 

(c) Comte 

(d) Pareto 

2- ^ÝkWe fjQkesZ’ku Vq b.MfLVª;y jhoksY;w’ku* ds ys[kd dkSu gSa \ 

¼v½ ghxy 

¼c½ fØLVksQj fgy 

¼l½ ,UtsYl 

¼n½ :lks 

Who is the writer of ‘From Reformation to Industrial 

Revoluation’ ? 

(a) Hegel 

(b) Christopher Hill 

(c) Engels 

(d) Roussoeau 
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3- fuEufyf[kr esa ls dkSu vkS|ksfxd Økafr dk izeq[k vk/kkj ugha gS \ 

¼v½ mRiknu ‘kfDr esa cnyko 

¼c½ mRiknu lEcU/k esa cnyko 

¼l½ mRiknu ds lk/ku esa cnyko 

¼n½ lekt dh ljyrk esa cnyko 

Which of the following is not basic element of Industrial 

revolution ? 

(a) Change in production power 

(b) Change of production relationship 

(c) Change of production resource 

(d) Change in simplicity of society 

4- Kkuksn; us c<+kok fn;k Fkk % 

¼v½ O;fDr dh LorU=rk dks 

¼c½ O;fDrokn dks 

¼l½ lektokn dks 

¼n½ mi;qZDr lHkh 

Who encourages enlightment ? 

(a) Freedom of person 

(b) Individualism 

(c) Socialism 

(d) All of the above 
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5- ^;ksX;re dh mŸkjthfork* dh vo/kkj.kk fdlus izLrqr dh gS \ 

¼v½ MkfoZu 

¼c½ LisUlj 

¼l½ FkkWel gDlys 

¼n½ ikjlUl 

Who presented the concept of ‘survival of the fittest’ ? 

(a) Darwin 

(b) Spencer 

(c) Thomas Huxley 

(d) Parsons 

6- dkWEVs dk izR;{kokn dc izdkf’kr gqvk Fkk \ 

¼v½ 1842 

¼c½ 1948 

¼l½ 1856 

¼n½ mi;qZDr esa ls dksbZ ugha 

When was the Comte positivism published ? 

(a) 1842 

(b) 1948 

(c) 1856 

(d) None of the above 
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7- ^ikWftfVo ikWfyVh* fdlus fy[kk gS \ 

¼v½ lsUV lkbeu 

¼c½ vkWxLV dkWEVs 

¼l½ LisUlj 

¼n½ ijSVks 

‘Positive Polity’ written by whom ? 

(a) Saint Simon 

(b) Auguste Comte 

(c) Spencer 

(d) Pareto 

8- ^fn LVMh vkWQ lksf’k;ksykWth* fdldh iqLrd gS \ 

¼v½ LisUlj 

¼c½ tkWtZ bfy;V 

¼l½ dkstj 

¼n½ lh- ,p- dwys 

‘The Study of Sociology’ written by whom ? 

(a) Spencer 

(b) Gorge Eliot  

(c) Coser 

(d) C. H. Cooley 
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9- LisUlj us vius fdl v/;;u esa vkfnoklh lekt esa tknw esa fo’okl 

djus dh ckr dgh gS \ 

¼v½ Kku dk lekt’kkL= 

¼c½ lko;oh fl)kUr 

¼l½ lSU;oknh lekt 

¼n½ mi;qZDr esa ls dksbZ ugha 

In which study does Spencer asked about the belive in magic 

among tribal society ? 

(a) Sociology of knowledge 

(b) Organic theory 

(c) Militant society 

(d) None of the above 

10- LisUlj ds vuqlkj inkFkZ dh fo’ks”krk gS % 

¼v½ foHksnhdj.k 

¼c½ ,dhdj.k 

¼l½ xfr’khyrk 

¼n½ mi;qZDr lHkh 

The characteristic of element according to Spencer is : 

(a) Differentiation 

(b) Integration 

(c) Mobility 

(d) All of the above 
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11- LisUlj ds vuqlkj izfrLi/khZ fdl lekt dh fo’ks”krk gS \ 

¼v½ lSU;oknh lekt 

¼c½ m|ksxoknh lekt 

¼l½ ¼v½ vkSj ¼c½ nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which society have characteristic of competition according 

to Spencer ? 

(a) Militant society 

(b) Industrial society 

(c) Both (a) and (b) 

(d) None of the above 

12- foYÝsMks ijSVks ewyr% Fks % 

¼v½ bathfu;j o m|ksxifr 

¼c½ vFkZ’kkL=h 

¼l½ euksoSKkfud 

¼n½ vijk/k’kkL=h 

Vilfredo Pareto was basically : 

(a) Engineer and Capitalist 

(b) Economist  

(c) Psychologist 

(d) Criminologist 
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13- ^ekbaM ,.M lkslk;Vh* iqLrd ds ys[kd dkSu gSa \ 

¼v½ foYÝsMks ijSVks 

¼c½ bekby nq[khZe 

¼l½ gjcVZ LisUlj 

¼n½ vkWxLV dkWEVs 

Who wrote the book ‘Mind and Society’ ? 

(a) Vilfredo Pareto 

(b) Emile Durkheim 

(c) Herbert Spencer 

(d) Auguste Comte 

14- ijSVks us viuh oSKkfud i)fr dks dgk gS % 

¼v½ rdZiw.kZ iz;ksxkRed i)fr 

¼c½ vUos”k.kkRed i)fr 

¼l½ losZ{k.kkRed i)fr 

¼n½ oS;fDrd v/;;u 

Pareto told his scientific method : 

(a) Logical experimental method 

(b) Investigation method 

(c) Survey method 

(d) Case study 
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15- rdZiw.kZ fØ;k ds vk/kkj gSa % 

¼v½ mís’; 

¼c½ lk/ku 

¼l½ oLrqfu”Brk 

¼n½ mi;qZDr lHkh 

Basic of logical action are : 

(a) Object 

(b) Tool 

(c) Objectivity 

(d) All of the above 

16- ijSVks us vfetkr dks fdu Jsf.k;ksa esa ck¡Vk gS \ 

¼v½ ‘kkld vfHktkr  

¼c½ v’kkld vfHktu 

¼l½ ¼v½ vkSj ¼c½ nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which categories does Pareto divide elite ? 

(a) Government elite 

(b) Non-government elite 

(c) Both (a) and (b) 

(d) None of the above 
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17- ^fn :Yl vkWQ lksf’k;ksykWftdy esFkM* iqLrd ds ys[kd dkSu gSa \ 

¼v½ gjcVZ LisUlj 

¼c½ foYÝsMks ijSVks 

¼l½ bekby nq[khZe 

¼n½ ek’kZy ekWl 

Who wrote the book ‘The Rules of Sociological Method’ ? 

(a) Herbert Spencer 

(b) Vilfredo Pareto 

(c) Emile Durkheim 

(d) Marshall Mass 

18- fuEufyf[kr esa ls dkSu HkkSfrd lkekftd rF; ugha gS \ 

¼v½ lekt 

¼c½ jkT; 

¼l½ lkewfgd vkRek 

¼n½ xg̀ fuekZ.k ds rjhds 

Which of the following is not physical social facts ? 

(a) Society 

(b) State 

(c) Collective conscience 

(d) Pattern of house formulation 
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19- fuEufyf[kr esa ls dkSu /keZ dk izdk;Z gS \ 

¼v½ fujk’kk dk Hkko lekIr djuk 

¼c½ yksxksa dks tksM+rk gS 

¼l½ vuq’kklu iSnk djrk gS 

¼n½ mi;qZDr lHkh 

Which of the following is functions of religion ? 

(a) End of feeling of disappointness 

(b) Connect people 

(c) Develop discipline 

(d) All of the above 

20- fuEufyf[kr esa ls dkSu lekt esa Je foHkktu dk dkj.k ugha gS \ 

¼v½ xR;kRed ?kuRo 

¼c½ uSfrd ?kuRo 

¼l½ HkkSfrd ?kuRo 

¼n½ voljksa dh vf/kdrk 

Which is the following is not the causes of division of labour 

in society ? 

(a) Dynamic density 

(b) Moral density 

(c) Physical density 

(d) Excess of opportunities 
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(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A ‘kCn&lhek 3&4 okD;ksa esaA 

 Attempt all questions. Word limit 3-4 sentences. 

1- lkearh lekt dks ifjHkkf”kr dhft,A 

Define feudal society. 

2- Kkuksn; D;k gS \ 

What is enlightenment ? 

3- lkekftd fLFkfrdh dks ifjHkkf”kr dhft,A 

Define social statics. 

4- izR;{kokn dh fo’ks”krk,¡ fyf[k,A 

Write the characteristics of positivism. 

5- lkekftd rF; D;k gS \ 

What is social facts ? 

6- VksVe D;k gS \ 

What is Totem ? 

7- vgeoknh vkRegR;k dk o.kZu dhft,A 

Describe the egoistic suicide. 
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8- rdZiw.kZ fØ;k dks ifjHkkf”kr dhft,A 

Define logical action. 

9- lSU;oknh lekt dh fo’ks”krkvksa dks fyf[k,A 

Write the characteristics of militant society. 

10- LisUlj ds ;ksX;re dh mŸkjthfork dks ifjHkkf”kr dhft,A 

Define Survival of the Fittest of Spencer. 

 [k.M&l izR;sd 2
1

2
 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A  

 Attempt all questions in 75 words. 

1- mRiknu ds u;s rjhds dk lekt ij izHkko dk o.kZu dhft,A 

Describe the impact of society on new mode of production. 

2- iww¡thoknh mRiknu dh izdf̀r ,oa y{k.kksa dh foospuk dhft,A 

Discuss the nature and features of capitalist production. 

3- dkWEVs ds lkekftd fLFkfrdh ,oa xfrfoKku dk o.kZu dhft,A 

Describe the social statics and dynamics of Comte. 

4- dkWEVs ds ,ds’ojokn dks Li”V dhft,A 

Explain the monotheism of Comte. 
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5- ijkFkZoknh vkRegR;k ij nq[khZe ds fopkjksa dk o.kZu dhft,A 

Describe the views of Durkheim on altruistic suicide. 

6- nq[khZe ds VksVeokn dh foospuk dhft,A 

Discuss the Totemism of Durkheim. 

7- fof’k”V pkyd ij ijSVks ds fopkjksa dk o.kZu dhft,A 

Describe the views of Pareto on Residue. 

8- ijSVks ds pØh; fl)kUr dks Li”V dhft,A 

Describe the cyclic theory of Pareto. 

9- mn~fodkl dh fo’ks”krkvksa dk o.kZu dhft,A 

Explain the characteristics of evolution. 

10- lko;oh lekurk ij LisUlj ds ;ksxnku dk o.kZu dhft,A 

Describe the contribution of Spencer on organic analogy. 

 [k.M&n izR;sd 4 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A ‘kCn&lhek 150 ‘kCnA 

 Attempt all questions. Word limit 150 words. 

1- Kkuksn; D;k gS \ bldk fopkjksa ,oa rdZ ij izHkko dk o.kZu dhft,A 

What is enlightenment ? Explain its impact on thinking and 

reasoning. 
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vFkok 

(Or) 

ikjEifjd lkearh O;oLFkk dh lkekftd ,oa vkfFkZd lajpuk dh 

foospuk dhft,A 

Discuss the economic and social structure of traditional 

feudal system. 

2- izR;{kokn ij dkWEVs ds fopkjksa dk o.kZu dhft,A 

Explain the views of Comte on positivism. 

vFkok 

(Or) 

dkWEVs ds rhu Lrj ds fu;e dks le>kb;sA 

Describe the law of three stage of Comte. 

3- nq[khZe ds Je foHkktu ij ;ksxnku dk o.kZu dhft,A 

Explain the contribution of Durkheim on division of Labour. 

vFkok 

(Or) 

lkekftd rF; ij nq[khZe ds fopkjksa ij izdk’k Mkfy,A 

Elaborate the views of Durkheim on social facts. 

4- ijSVks dh rkfdZd ,oa vrkfdZd fØ;k dk o.kZu dhft,A 

Explain the Pareto’s logical and now logical action. 
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vFkok 

(Or) 

ijSVks dh v/;;u i)fr dks Li”V dhft,A 

Describe the Pareto’s methodology. 

5- LisUlj ds lko;oh lekurk fl)kUr dk o.kZu dhft,A 

Explain the theory of organic analogy of Spencer. 

vFkok 

(Or) 

lkekftd MkfoZuokn ij LisUlj ds fopkjksa ij izdk’k Mkfy,A 

Elaborate the views of Spencer on Social Darwinism. 
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